Chain Rule worksheet

Find the derivative of each of the following functions by using the chain rule.

(ese(a))®°
(9z + 3)%°

— cos (\/@)

L

-1
T10x2 +10x+2

—sin (922 + 21)

[

sin (sin(x))
— sin (— sin(x))

cot (—8xz)

e

cos (sec(x))

10. N/ — cos(x)

11. cos (922 + 14z + 6)

12. W93 + 21

13. (cos(x))2008

14. (esc(a))?00s

15, &

16. Ve

17. (sin(z))200®

18. —sin (52 + 11)
19. cos (cot(x))

20. sin (cot(x))

21.
22.
23.
24.

26.
27.
28.
29.
30.
31.
32.
33.
34.

36.

37.

38.

39.

40.

g—5x+2
v/ — cos(x)
sin (e*7)

— sin (sec(x))
— cos (cos(z))
15 esc(5x)

(122 + 5)17
(van ()™
tan (sec(x))
o9z

6% +8

— cos (V8x)
— cos (e*)

cot (sin(x))

. cot (8 csc(8x))

41.
42,
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.

56.
57.
58.
59.
GO.

MATH 1500

— sin (922 + 142 + 6)
¥/ —sin(x)
tan (cos(z))
(sin(z))*"
tan (v/T)
Y/ — cos(x)
2vox

6x3 + 8
gsin()
YO T 1A 6
(van ()0
5t 11
cot (ese(x))

(cot(a))2008

1
9x%+14x+6

R. Borgersen



